REmER BEHZE SHAELE ~
o8 | fEE | Hf R B4 ER) x| e 154 | 2%F | 3%F
2H Y #E | 4 60
X e HAEXER #E 2 30
6;: Ff i 14 |e#icesazar—ar ammrmm | 2 30
% | wo CE =+ 2 30
E & RS BE 4 60
ERRS| EE 2 60
A ERRSZ T BT 2 60
& HEppgme EE 2 30
B | 12 [masey wE | 2 60
Py HEREfR S| A T EE 2 30
& DB EE 2 30
5 EENRRER EE 1 30
- DREEZT EE 2 30
3 DNREEZT EE 2 30
2 %% YNEYF—LavES #s 2 30
w | Wi REFHH— Mm | 2 30
. ﬁm \, [FEERS—2 s 2 30
m FRFRES & 1 wE | 30
5 | ®y BEREZER I EE 3 90
p BRELERT ®E | 1 30
# BRREZERV EE 1 30
I ER H% 2 30
b HEmES #Ex 2 30
=i | 3 |ERER #5 1 16
4 e ) 1 16
BEEESHS I et 4 60
= FEESHR I #5 4 60
» 9 HAETYY—UREERR| EE 1 16
g [FYEDSEH I BE 1 30
e [FYZES5HEiH I HE 1 30
FYEPSEHI HE 1 30
RIRENE EE 2 60
REEZERRR I et 4 60
& HEESERRA I #5 4 60
» N PRE EE 4 60
‘g EREE #5 1 16
= WS RRENE EE 2 30
i PR SsEEA Ft 1 16
# HEHIFEF #= 1 16
SE | 2 [ezeuEEn WwE | 20
Fs #HEHIIERM EE 1 20
HEREYER T 2 60
EREoSER e 2 60
BRERITYZEDSER I e 1 30
¥ BRERITYZEDSER I = 2 60
- BIRIBNER e 1 30
N ISRIFYEDSIER EX 2 60
7 EHABEER e 2 60
% N BTy —UER e 2 60
= |19 [BEmEERR =R | 2 60
R4 B 8 AR B =i 2 60
BTy — R =i 2 60
R4 B R FE = =i 2 60
EFBREE EiX 2 60
SAHTIEER EiX 2 60
RO =wH EE 2 60
BERBER T 2 60
HERER e 1 30
| 2w FRREE-1 =E 1 45
s93m | 4 |mER=EZ-2 =8 | 90
- % ERREE-3 =T 1 45
ANEDEEEHEE | EE 2 30
ANEADEEEHEED EE 2 30
e TEREER #% 2 30
% 10 |ZHmaE 4R #x 2 30
15 &R EFH E= 2 30
EEEFRAH =+ 2 30
BATEER T 1 30
oF IS B i EHE 1 30
sl ST LFRI—FLY wE | | 30
Ry ERNES wE i 30
REBEERE § & 133 1036 951 939




